2eWaH([GT | wodowxdes g3gly |0TE [0E€ |¥Z |T |90 |SL €J0T(6T 6'T T |67 L € anaxdigrodgoyy
sewaH [0z | wedowxdesf gogle |00€ |[¢¢ |0Z |VTI |SL0 |Ov €J0T|TT 't T It €2 z anaadisrodgofy
SBWSH|ST modowxdas| 4ygle |09Z |2z |8T |VI |[SL0 |ov €J01|6°0 60 T 8C 144 4 anasdigrodgoly
sewaH|oz | wedowxdss| gogle |08z [0Z [0z [T |0 |OS €J0T|ST ST T |sT Y4 z anaodigrodgolf
sewaH|pz | medowxdes| gogle |08E |0€ |SZ [T |L0 |wL €D0T|ET €T v JgT |8t z axqddiarodgoly
3BWIH|0C vodowxdas| 4ogle  |09€ |¥Z |ZC |VTI |80 |6F €J0T|LT Jin ¢ T £ET LE G axqddigrodgoly
2ewaH|0¢ modowxdas| 4ig|€ |09C |0€ |vT |T 9’0 |¥9 hugzedg|8v 8'v T 8v 9¢ (¢ anqodigrodgoly
2ewWaH|0¢ Wiodonxdas| 43gle |08C |9C |¢T |T " L0 |09 hUgeeD/|T‘9 1’9 T 1’9 (47 78 aqodigrodgoly
3ewaH|0¢ modowxdas| 47g|e€ |0CE |9C |2C |T L0 |6S €J0T|6T 6'T T 6T 81 [4 anqodigrodgoyy
3ewWaH|0¢ modoxxdas| 4)glE€ |08C |9C |CC |T L0 |09 hUggeD/(0'S 0's T 20 S (Y4 7é axnqodigrodgoyy
2BWaH |07 wiodowxdas| 4)gl€ 08¢ |OE |€C |T 590 |S9 ug+hgeed/|T'C 1T T 1T €T ré anaddigrodgoly
3BWaH|0¢ modowxdas| 4ig|€ |S/Z |0T |8T (T 80 |vv €J0T|E 0'€ i 0t LT ré anaodigrodgoly
SBWSaH|0¢ vodowxdas| 4ogle |0ZE |9¢ |2 |VI |L'0 |¥S €D0T|t'S ¥'s T v's T¢C 4 axaodigrodgoyy
SeWaH ST modowxdasl 4igle€ |08T 9T |VT |T SL°0 |vE €J0T|S0 S0 T S0 6¢€ [4 anaodigrodgofy
6T 8T |L1 9T |ST |VI €T |ZT |IT |01 6 |8 L 9 S v € 4 T
S533BS 25 BE|Z|BE|BIEds (3 |2 R EERERE (
522 2o &z S Bla .m alzl8 4% |2 |5 |, ¥ g 48 2| B 2 2 |amunodA)oarnmuHoly
e z I S5 £ = = o|lo g %218 32 |9 o =T 2499 - ] k-] -
=z gEg 2z [F3|1218 IP|:3" |° |& |3 2 4% [z2| =2 |2 |z
=2k x| 2 2|2 | D = = @®
2=l =l (@ |z 3 = B p B B B |2
$8¢F 3 s felT | q= ! £12 |2 |8
3 m m m m m m BHHegANT'Bdousodir siveidatew oY oHisoutis aidesyal 2 w =
B = 3| suHaweIEH eXMLMdaLEdEX eHuinedsel exrodoy ‘Andus e
wid §T0Z eH Dwaudve], UL LT 0JoNagAg-exHE WeY
apiv AHeL) osoHdelHe) BHHRmMUIvoU € gifoxes
Al3d3ll .
o DIV (oiape POy UL =
'V BYRHYS : WUMADEOHK Y _‘lll‘nnwﬂw\wt..rl.hl\
JNUAS 8189/ HHAve JLovxesooiwaiaayy, DT éionagiés 201
LoiAxirouol], / o.>vxd.o..o_._..




3BW3H |57 wovodus| 4ogly [0Sz |9€ |bZ [z |ss‘O [s8 €J0T|0T 0T T |sC 44 6€ anqodigrodgofy
9BWaH|ST viodowxdasl gagly |0S¢ [9€ |¥Z |z [sO |s8 €J0T|6°0 60 T I1E% 1C 6€ anqodigiodgoly
seWaH([Gz | Weodowxdes| gogly  |ove [z [€z [vT |20 |09 €J0T|t'C ¥'C T e z 8¢ anqodigrodgoly
3BWAH|QZ | wodowxdes| gogly o€z |o€ bz VT |Z0 |sS €1GED5(0Y 0t T [0y L 8¢ anqodisiodgoly
BWIH|GT | wmedowxdes| gogly  |ove [z€ gz |vi [2'0 |09 €J0T[06 06 T |06 6 8¢ anqodisrodgofy
3BWOH|GT | Wodowxdss| gogle |0z [9€ |sz [T [sO sz €J0T[90 90 T |9 9z 8¢ anqoxdisiodgoly
3eWaH|GZ | Wodowxdes| g4ogly  |ope |9z [tz [T, |80 |v¥S €J0T|L Y &Yy T Y 4} V4 anqodisrodgofy
3BWDH|QZ | Wodowxdss| gogly  [08€ |87 |z [vT [sz0 |09 €J0T|6'T 6T T |61 T Lz anqodigrodgoly
2BWAH|GZ | Wodowxdssl gogle |00z |Z€ |€z [T [sO |s9 eenvgred9|ey €Y T |€Y LT ST andodigrodgofy
3BWAH|0Z | wedowxdas| gogle fozz [9€ |sz [t |s0 sz €J0T|2'9 Z'9 T |29 L ST andodigrodgoly
3eWaH|ST wovodus| 4agle |00z |87 |€z |vT |[ss‘0 |ss €JZ€TWTeI9|L0 L0 T |0 9 4t anqodigiodgofy
3eWaH|0Z wovodus| g3gle [09T |95 |2z |t [s0 oz d0TEIZETL|ST ST T |s¢ S T anaodigrodgofy
3eWaH|0Z wovodus| 4ogle (08T |z€ |sz [T |s‘0 |oz €JZETYEDP|9T 9'T .35 v T anqxdisrodgofy
3eWaH|0T wovodus| 43gly [0z |z€ |sz |[vT |s‘0 |s9 €J0T(0Z 0L T 04T |s €1 angodigrodgofy
3eWaH|GZ | wedowxdes| gigly  [ozz o€ |zz |t [s0 |s9 €J0T|€Z €7 T |€7 9¢ 0T andodigrodgofy
3BWAH|GZ | Wodowxdas| gigly  [STE |87 |€z |vI [S9°0 |6S €J0T(0C 0C T |0 4 0T axndisrodgofy
3BWIH|QZ | Wedowxdes| gogly  fopz |82 |zz |vT [s9'0 |ss hUgped9| Ty v [T |T% |o1 0T anqodiarodgoly
3BWAH|GZ | Wedowxdas| gogly  [s6z |9z |zz [t [sz’0 |o9 hUgTUgZED. |87 87 T 8% 4 0z anqodigrodgofy
3eWaH|SZ wovodus| goglyy |0ZZ |82 [€Z [T |s‘0 |s9 eTUgTED8|T? 12 R € 0z anqadigrodgofy
3BWaH|Gz | wedowxdes| gogly  fove [8Z |€z [T |£0 |s9 €J0T|2'L <L S oy 4 v (114 anqodigrodgofy
BWAH|0Z | Wedowxdes| gogly [gzz |oz |8T |vT [80 |e€ hrg+eD0T|0'E 0‘€ T.108c lot 7 andodigrodgofy
3BWaH|QZ | soudiwauol gogly gz [8Z |€z |T [£0 |09 hUgTUlZETL|0T 0T T |o8T |9 9 andodisiodgofy
3BWOH(QZ | medowxdes| gigle |S9T [8Z [tz |t |0 |09 dOTEIEETZEIV|S'T ST T |sT LT S anqodisrodgoly
SBWAH|GT | Wodowxdes| gigle  [opz |z€ |gz [T [90 |s9 20+€[7Z€08|9T 9T T |97 9T S anqodigrodgoly
3BWAH|Q7 | Wedowxdes| gogle  fopz |vE |vZ [T [Ss0 [s9 €JTETZO0TED9|L T LT T |2 4 S anqodigrodgofy
3BWOH(GT | Modowxdes| gogle  |0€€ |0€ (b2 |T  |S90 |s9 € 1+€[1+€D01 |90 90 T |9 S S anqodigrodgofy
3eWAH|QZ | Wedowxdes| gogle [qze |og |sz |t [90 oz e+ED0T €T €T A 4 I S andsdisrodgofy
3eWaH(oz | Meodowxdss| gigle  |osz |z€ [9z |vT |s‘0 oz €7T€06|6'T 6'T 1T L S anqodigrodgofy
3eWaH|Qz | wedowxdes| gogle  |ovy |vE |82 [vT [0 sz €018 87 T |87 z S anqodisiodgofy
3BWAH|GT | Wodowxdes| grgle [oze |ze |sz [t [90 oz €[7+€D0T|6°0 60 T 1"le0 I8 S anodigrodgoly
9BWaH|GT modowxdas| 4ogle |0SE [0€ |s¢ |T  |s90 |oz €J0T|6°0 60 T |60 € S anqadisrodgofy
sewaH([oz | wWeodowxdes) gogle  |ozy |o€ |2z |vr |Z0 oz e+€J+€D01|2'8 '8 I |8 v S anaxdigrodgofy
3BWAH|0Z | Wedowxdes| grgly  [gzz |8T |8T |[vT [80 |e€ €J0T|T'E T's T |T'€ v1 € a%axdisrodgofy




SBWIH|Q7 | wWodowxdas| gogle loze |z€ [tz |1 |ss0 [so €J0T|8T 81 T |8t 8 1S 9HATISHEeL80)K
3BWSH| QT vodowxdas| qogle  |0€E [9€ |€Z [T [£'0 |69 €J0T|Z9 9 T |29 12 15 MANaHeL80)K
SBWSH|8T vodowxdas) gogle |06 [2€ [Tz [T |20 |¥9 €DJ0T|SC ST T |s? 44 15 INATMaHEL80)K
SBWSH[QZ | wWedowxdss| gig|e  [0€Z [2Z |LT |VT |SLO |s€ 20€ETTED9|ET €T T o 16 37 9NATIaHELE0NK
3BWaH|(QZ modowxdssl gogle |0€z |2z |41 |vT |sL0 |s€ d0€ETTEI9| T ¥’ -y GE 157 9¥AToHe180)K
3BWSH(GT vodowxdasf q3gle  |00€ [0€ [Tz [T |20 [sS S0EETTEI|T 4 T |[8S 187 143 9¥ATNaHEL80)K
BWSH(GT vodowxdas) gogle  |ovz [8€ |[vZ [T [9'0 |oL 20+£[7€€DL|9C 97 T |9 0T 15374 9NATI2HELE0YK
SBWSH[QZ | Wodowxdas| gagle oz |0€ |€Z |T  [S90 |oL UgTETEED9|8°C 8T I |87 € 137 9N9TIaHEeLE0)K
3BWIH|(0Z vodowxdas| qogle  |00€ [2€ (€2 [T <|Z'0 oz U9TO0TETTEDL|P'9 ¥'9 T |v'9 VL 137 9N9NaHeL80yK
3BWIH|0Z vodowxdas| qogle J00E |eze ez |t |20 [oz SOTUGTETTEDL|Y 17 -1 1 37 ¥9NaHeL80)K
3BWIH|(QZ vodowxdas) 4agle |06 |¢€ |[€Z |VI |S90 |09 202EZe09|2T 4 4 T |2 Z 137 9HATIOHELE0YK
3BWSH|(0Z modowxdas| gogle  |ove [0€ [2z [T |sz0 |09 €J0T|2 4 O €€ 137 ¥aNaHeL80)K
SBWSH|GT | Advvesodus| gogle  |0zz |92 8T (9T |S90 |se €JT906|1T 17T B | 7 5 L8 137 9NANaHEeL80)K
3BWSH| (07 vodowxdas| g3gle  |00€ |2€ |vz VI [S90 |09 d0TETZEDL|0T (1) T ot 6€ 137 HATISHELE0NK
3BWSH|GT wovodus) 4ag|e |0€C |9z [0z |T |0 |09 d0ThUGTETZEDS| b T v'T T ¥ LT 157 9HANSHEe180)K
3BWSH((0Z modonxdas| q3gle  oze |o€ |62 |VI [SZ0 |09 €7T1E06|EY £ T €% 6T 137 9¥ANaHeL80)K
3BWSH| (07 modowxdas| 4ogle  |0L€ [8Z |2z |VI |S80 |6p €+€D0T|LE L'E T |t LT 137 9¥ANaHeL80)K
SBWSH|GT | Advvesodus| gigle 06T |92 [Tz |VI |ssO [0S hUgTo0ZET.L|8°0 80 T |8 8T 37 SNATIOHELE0)K
3BWIH|0Z vodowxdas| 4ygle  |0SE [2¢€ b2 VT |20 |09 €D0T (V'Y A7 T ¥ €1 37 ¥ANaHeL80)K
3BWSH|GT weolkdisol gogle  [0€T |v¢ |8T [T |s‘0 |s€ udgThrge(zo 20 f ‘g0 VT 37 9X9NaHe180)K
SBWSH| (7 modowxdas| 4og|e  |ovE |[0€ |€Z [VT |20 |sS €0T|T'E 1% T |t 91 137 9HANOHEeL80)K
3BWIH|(07 modowxdas| gogle  |0SE [8Z [€Z |vT |s20 |os hrg+€D0T |v'T v'T T |vT SZ 37 9¥aTaHeL80)K
3BWSH((0Z modowxdas| g3gle  |0GE |0€ |vZ |V [S90 |09 €D0T|6V 6V T |67 143 1€ 9¥ANSHELE0)K
SBWSH|GT vodowxdas| 43gle  |0SZ [9€ |0z [z [9'0 |¥9 €J0T|ST ST T ST LE 1€ 9NATISHELE0)K
BWSH(GT viodowxdas| 43gle  |0€E [9€ |TZ |VI [SL0 |6v €J0T|T 1 T~ 9¢ 1€ NANSHeL80)K
60LT  6'0LT AsinuHoIv ou oJoddog
3BWaH|0Z viodowxdas| 4oglyy  |00€ |[8Z |€Z (VI |20 |¥S ugThUgTED8|T'6 16 T |16 1T 43 anaxdigrodgofy
3eWaH |Gz viodowxdas| 43qly (062 |0€ |vZ |VT [S9°0 |09 hUgzedg| vy vy T |v'Y 8¢ 43 andadisrodgofy
3eWaH|0g | Wiedowxdes| gigly  |opz |0€ €z [VI |S9'0 |09 €[72¢€08|ST ST I 5% 43 43 axnaxdisrodgofy
SBWIH[QZ | Wiodowxdes| goqgly (GEE |87 |z |VI [S90 [6S €J0T(86 86 T |0€T |9t 43 andodiarodgofy
BWAH|0Z | Wodowxdss| gogly |S£Z |2€ |2z [T |90 |s9 €J0T|6°C 6'C T |6 9 187 anaodigrodgoly
SBWaH(GZ | weodowxdss| goqgly IS/ [z€ |2z [T |90 oz €J0T|T'S T's T |1s z 187 anaxdiarodgofy
3BWaH|ST wodowxdas| gogly (04T |2€ |tz [T |s‘0 |09 hrgzugzed9|Te [ 37 I e (4 47 anaodigrodgofy




OMH293] "IN'] J\ 3 ,H.,,...wi%_u:ml__. Ul LU olonasAg-enHs wey doiaduly
= PIB S AL LA N |
v / .ﬁvl , Y'vESE As1owaudutiu ou oso9og
o) ..unm@ﬂ G691 AaLnuHoIK ou 010909
SBWSH|QT modowxdaa| 4Ogl€ [00E€ |9€ |9 |VI |S9°0 |OL ,,,,,,..,.Emwmﬁ_mm@% [4 A4 E v'T Y4 €S HANaHeL80)K
SBWSH|GT modowxdas| 43gle  |0GZ |ZE (2T |T S9'0 |09 20+¥ePed9|€s’s €'e T €'c €C €S 9NANHELEONK
3BWaH(QT vodowxdael 4ogly |ove |vv |€C |C S0 |s8 € ]+hUg+20+E[/+€D0T |60 60 T 60 A 6S 9NANIaHELE0YK
SBWSH|GT wisorhdiool gogly  |062 |9€ |€2 |T 90 |s9 20+£+€D0T|9'T 91 T 9T (43 LS INATIaHELE0)K
SEWSH|ZT wigoiAdidol 4oglz  |0€C |8C [0Z |VT |L0  |2v hUgTETTED8|9T 97T ! 9T €€ (54 aHaNaHeL80)K
SBWOH|GT viodowxdas| 4oglz |0€E |[8Z |€Z |[9T |[SL°0 |9V €[+hUgzeD8|LE L'E T L'E [43 6V anaNaHe180)K
SBWSH|ZT wgotkdiol 4agiz 1042 |ov |2z |T S9°0 |S9 €vED9|S'T ST i3 ST IS (54 9NANIHELE0NK
3EWSH|QT wodowxdes| 4oglz |06T |9€ |12 |C 90 |08 20+Ug+hUgTETEEDY|ST ST i 9t L 6V 9¥ANaHEL80)K
SBWSH|GT modowxdas| 43g|Zz  |00E |v¥ |€T |T S9°0 |0z €J0T|L'Y LY T L'y 61 S NAMAHELE80)K
SBWSH|GT modowxdss| 43g1z  |0TE |0V |VZ |T 90 |sz €J0T|S S T 1T L St MATNSHEL80)K
BWaH|QC modowxdas| 41glz [0GE |Ov |€2 |T SL0 |S9 €D0T|8 8 T ST |t S 9HANaHEL80)K
3BWSaH(QC wedneodwaH| daglz |00y |9€ |¥2 |T SL0 |S9 E+€D0T|T'8 18 T 1'8 SE o INANSHEL80MK
SBW3H|(OC wieaiAdiool gaglz  |0€E |9€ |€Z |VT [0 |19 €7T€06(9 9 T 9 74! 174 9HANDHELE0}K
SBWaH|G7 modowxdas| 43g|z  |09€ |9€ [ST |T L0 |0 20+€[7Z€08|S'9 S'9 I ) o€ 9 NANaHEL80)K
SBWSaH|0C modowxdas| 4ogly (06 |O¥ |S¢ VI |90 |S9 €7+hrgTED6|(8C 8C T 8C 6C S NANSHELE0NK
SBWSH(GT modowxdas| 4ogly (0S¢ |vv |V |T S50 |Ssz € +€T+hUgzedg|T T T 9 ST VS 9HANIHEL80)K
SBWSH|GT wiodowxdael 4Oglyy |oCE |C€E |€C |1 L0 |S9 €7+€D0T (9T 91 1 9T [43 SS INANSHELE0)K
SBWaH|GZ modowxdas| 4ig|yy  |09€ |9€ (VT |T 19 .10 €+€7+€D0T|9'S 9'g ;& 9's 153 SS INAMAHEL80)K
SBWaH|0C viodowxdas) 4ogly  |00v [8Z |€Z [VI [SL0 |SS €D0T|V'S A T v's 187 LS 9NATIaHELE0)K
3BWSH|Z7 viodowxdas| 4Og|yy |0ZE |9€ |€T |T 590 |69 20+hUg+€D0T|Z'T T T s 6V SS 9HANaHEL80)K
SBWSH|GT modowxdas| 4iglyy |0EE |0€ (2T |T SL'0 |09 €7+€D0T|8T 87 T 8T 61 LS aNaNaHeL180)K
SBWSH|GT wiodowxdas| 4ogly |OvE |8C [T |T SL0 |6S €J0T|S0 S0 T S0 L2 LS 9NANaHEL80)K
SBWaH|GZ modowxdas) 4ogly [00E€ |8C |0 |T SL'0 |1S €J0T|L0 L0 T L0 4" 8§ NANAHEL80)K
3BWSIH|(QC viodowxdas| 4ogly [09€ 8T |ZZ |VI S0 |IS €J0T|TY v T v L 89 9HATMIHEL8O0MK
SBW3H|QC modowxdas| 4ogly (00 |9€ |0T |C S0 |69 €J0T|€E € T € LY 89 NANIHELB0)K
SBWIH|QC wodowxdas) 4ogly |0ZE |9€ |TZT |T L0 |19 €J0T|2‘T 1 T i A €S 8S MANIHEL80)K
SBWIH|GZ viodowxdes| 4ogly  |08Z |[Z€ 0T |C L0 |S9 20+€D0T(80 80 T 80 99 89 9¥ANSHEL80}K
SBWaH|GT | Wiodowxdes| 4ogle  [09Z |0€ |6T (2 (L0 |[S9 €J0T|8°0 80 T |80 |0z 15 NANSHELE0)K
SBWIH|QT Wiodonxdas| 4igle  |0GC |9€ [¢T |¢ 90 |08 €ze08|z'e e T e T€ IS aHaNaHe180)K




